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M

For any colour, Yy=100, D65
[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

20Tv)=s,

-0,8 0,0 0,8

1,6 ag=xly

525Mm|-m575 600

CE150-7N

MA=S)
-0,8 29
e -1,6
9495¢,E
>
8
CIE 1931 X s
0,0 400 J
0,0 0,2 0,4 0,6 0,8 1,0 &
CE150-1A_1 CE150-2A_1
-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 &=y
Parame:
s2sMmlmss e0g. 625 700 M ter: Y
091_ 495¢,E Parame 0.0Tvy=5, 52V MLmszs o P| 625
ter: Y 50 700
MyE 500c,E M\=S)49
-0,8 -0,8
510¢,E
525¢,E =
-16 3
o
2
> &
<8r sorBe/ Sm/ | TS 550c,E 4
o For any colour, Yy,=100, D65 & For any colour, Yy=100, D65
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromticity (ay, by) &' | chromaticity (ay, by)
CE150-3A_1 CE150-4A_1
-08 00 0,8 1,6 3=(x-0,171)f -08 00 0,8 1,6 3=(x-0,171)y
625 700
0,0 §V|m|‘ 600P] 495¢,E 0,
52! 500c.E Parame: Y Parame:
V=S ! ter: Y M= ter: Y
M 510¢,E
08 525cE -08
4
= 550¢,E =
=] (=2}
&8 b 3
=) =)
£ £
3 g
) B T -
? & e Sm S For any colour, Y\,=100, D65 <|=a7 For anyy colour, Yy=100, D65
s [max () chromatic value?], e [max (m) chromatic value?],
£ chromaticity (ag, bg) o chromaticity (ay, by)
CE150-5A_1 CE150-6A_1
-08 00 0,8 1,65=(0,86¢-0,73-0,027)y -08 00 0,8 1,6 8=y
Parame:
s2Mnbns7s 600 625 700  ter Y
Parame o o
V)\:S)\ 500c,E
50 510c,E
-0,8 -0,8 MA‘% 525¢,E
=
N =
g :
g g
= N
t ~
=] (23
S < | For any colour, Yiy=1
s Y | [max (m) chromatic valus?],
&£ & | chromaticity (ag, bg)
150-7A_1 CE150-8A_1

TUB-test chart CE15; CIE, y) and chromaA?*;, B*;)

515 o 525

M,.C=2,V=1,2,58&
m =2
csr%roomatlcny (x,y)

520 Munsell System Y,=100

9, D65

X,=95,04,Y,,~100,00Z,~108,89 B*,
Xw=0,3127y,,=0,3290

* 0=(@g~[80,i*a0,y* 30 1) Y1g(Y/Y19) /3

B o=(b[o,+bo,y +bo,al) Y1e(Y/ Y19 /3
ag = ago [X/y] i
bg = byo [/

=1, byp=-04

4 “ A*,
j : : ,
n = D65 -10 10
262 39,y=3ov(Y/Y15-1) J
9%95¢,E Do, y=bav(Y/Y1g-1)
ay ,002,b,y=-0,002 T
ap,A=0,003,by A=0,002
CIE 1931 X Munsell System Yy,=100
i C=2,Vv=1,2,5,8&9, D65 T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*()
CE151-1A_1 CE151-2A_1
X=95,04,Y,~100,00,~108,89 B , Xw=95,04,Y,,~100,002,~108,89 B*,,
*w=0,3127y,,=0,3290 o X=0,3127y,,=0,3290 oo
A*1=(aq-[ag i+ag y+ay al) Yig(Y/ YlB)i B A*y=(ax—[ag ntag y+ag al) Yag(Y/Y19) 1 B
* 1701 [0, +01 v by A]) Yag(Y/Y19) B*5=(bp=[b2 bp v +b A) Y1(Y/Y19)
3y = a0 [(x-0,1791y] 4 ay = a [(x-0,1790y] 4L
by = by [2/4] b=z [(Mp1x+bpy)/y]
ay=1, byy=-04 A* ay=1, byp=-04 A*
my1=1,000,bpy =0,l7:l ' / ' b 1 mp;=-0,169,bp,=0,389 2
n = D65 -10 10 n = D65 -10 E 10
g y=apy(Y/Y1g-1) @ 8 v=ay(Y/Y1g-1) 2
by y=boy(Y/Y1-1) by v=boy(Y/Y1g-1)
apy=-0,002,b,y=-0,002 T apy=-0,002,b,y=-0,002 T
a; =0,003,b; 4=0,002 ay 4=0,008,b, 4=0,002
Munsell System Y,,=100 Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, D65 T-10 C=2,Vv=1,2,5,8&9, D65 T-10
chroma (A*;, B*,) chroma (A*,, B*»)
CE151-3A_1 CE151-4A_1
X=95,04,Y,~100,002,~108,89 B*, Xw=95,04,Y,,~100,002,~108,89 B*,
*w=0,3127y,,=0,3290 a0 X=0,3127y,,=0,3290 La10
A* 3=(33‘[33,n+33,Y+33,A])Y18(Y/Y15)1 B *4=(a4‘[a4.n+a4.Y+a4.A])Y18(Y/Yla)1 B
B*3=(b3~[bg b3 y+bs Al) Y15(Y/Y19) B* 4=(b4=[bs,n*bs y+bg A]) Y1(Y/Y15)
a3 = a0 [(x-0,172/y] 4 ay = a [(x-0,179/y] 4L
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
a=1,by=-04 A* 30=1, by =-0,4 A*
mp1=-0,974 b =0.658 ; Vi ' b2 mp1=-0,169,b5,=0,389 ; é ' .
n= D65 -10 g 10 n = D65 -10 10
a3 y=apy(Y/Y1g-1) D& 3y v=ay(Y/Y1g-1) 22
b3 y=boy(Y/Y1g-1) by v=boy(Y/Y1-1)
apy=-0,002,b,y=-0,002 T ayy=-0,002,b,y=—-0,002 T
ag =0,003,b5 4=0,002 a4 =0,003,b; 4=0,002
Munsell System Y,,=100 Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, D65 T-10 C=2,Vv=1,2,5,8&9, D65 T-10
chroma (A*3, B*3) chroma (A*,4, B*4)
CE151-5A_1 CE151-6A_1
X4=95,04,Y,=100,00Z,,~108,89 B* Xw=95,04,Y,,~100,002,~108,89 B*
*w=0,3127y,,=0,3290 a0 X=0,3127y,,=0,3290 a0
*5=(35‘[35,n+35,Y+35,A])Y18(Y/Y15)l B *6=(36‘[36.n+36.Y+36.A])Y18(Y/Y13)1 B
B*5=(bs5=[bs b5 v +bs A]) Y1g(Y/Y19) B*6=(bg~[b6, b6 v +bg al) Y15(Y/Y15)
a5=a,,{(0,86x—-0,71y-0,026)¥] ag = ao [x/y] +
bs=b,,[(0,19+0,38/-0,24)4] b=z [(Mpx+bp1)/y]
agy = 1,00,b,, = 1,00 A ag= 1, by = 0,4 A
A 6.y R=475,503,574,494¢ . nm , )5 Mp1=-0,974,b;=0.658 6
n = D65 -10 10 n = D65 10 10
g v=ay(Y/Y1g-1) 2

a5 y=apy(Y/Y1g-1)

b5 y=boy(Y/Y1g-1)
a,y=-0,002,b,,=-0,002
a5 4=0,003,b5 5=0,002
Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, D65
chroma (A*g, B*g)

5
-10

bg,v=boy(Y/Y1g-1)
2,y=-0,002,byy=-0,002
a5 4=0,003,b5 4=0,002
Munsell System Y,,=100

r-10

C=2,Vv=1,2,5,8&9, D65 T
chroma (A*g, B*g)

CE151-7A_1

CE151-8A_1

input: w/rgb/cmyk —> rgb
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M

For any colour, Yy=100, D50
[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

20Tv)=s,

-0,8 0,0 0,8

1,6 ag=xly

525Mm|-m575 600

MA=S)
-0,8 e
A& -1,6
9495¢,E
>
8
CIE 1931 X s
= |
0,0 0,2 04 06 08 1,0 5
CE150-1A_2 CE150-2A_2
-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 &=y
Ml Parame:
525 M575 600 625 700 ter Y
0\9 =S L] Ro 495¢,E Parame 0,0 VA=S)\ 52Mm Lims7s
5 ter: Y 50
MyFS), D50 5000, A=Shao
-0,8 -0,8
3 510c,E
525¢,E =
-16 3
o
=)
> 3
§ T Bef Sm[| TS 550c,E 4
o For any colour, Yy,=100, D50 <|5 For any colour, Yy=100, D50
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromticity (ay, by) &' | chromaticity (ay, by)
CE150-3A_2 CE150-4A_2
-08 00 0,8 1,6 3=(x-0,171)f -08 00 0,8 1,6 3=(x-0,171)y

[ 600P| 5% 70295::5
o soMm=TBrS Re [soocE Parame o =SK52§\/ImLm575 600, Parame
V)=S), © ter: Y M)=[5)80 o2 L ter: Y
M Gl (= 49 D50 Re Leooce
—O,é SERE(E -0,8 510c,E
525¢,E
4
= 550¢,E = Be 550¢,E
e © 4475
© 4 (32}
g 9 Sm/ |Ts
T T
N -]
~ ©
o =1
? & For any colour, Yy,=100, D50 <|=a7 For anyy colour, Yy=100, D50
s [max () chromatic value?], e [max (m) chromatic value?],
£ chromaticity (ag, bg) o chromaticity (ay, by)
CE150-5A_2 CE150-6A_2
-08 00 0,8 1,65=(0,86¢-0,73-0,027)y -08 00 0,8 1,6 8=y
Parame
s2Mnbnsss 600 625 ter: Y
Parame o o
_ 500¢,E
WA=S)
50 510c,E
-0,8 -0,8 MA‘% 525¢,E
=
N =
5 [c0)
T 8
i e
= N
t ~
=] (23
S < | For any colour, Yiy=1
s Y | [max (m) chromatic valus?],
&£ & | chromaticity (ag, bg)
150-7A 2 CE150-8A 2

CE150-7N

Hs

TUB-test chart CE15; CIE, y) and chromaA?*;, B*;)

U

51552 525M Munsell System Yy

3

h ticit, 9
cssrooma icity (X,y)

=100

C=2,Vv=1,2,5,8&9, D50

Xy=96,42.Y,,=100,002,,=82,49 B*
%y~=0,3457y,,~=0,3585 10

*o=(20" 180,120, +20 ) Va9 U3
B*g=(bo~[bo,n*bo,v+bo al) Y1(Y/Y19)
a9 = ag [x/y]
by = byo [2/4]
ay=1, byp=-04

20 20 A* @

|
t >
10
-10

)
n = D50 _10 '
80,v=ay(Y/Y1g-1)
Bo,v=boy(Y/Y1g-1)
apy=-0,002,b,y=-0,002

ag 4=0,003,b5,4=0,002

CIE 1931 X Munsell System Yy,=100
i C=2,Vv=1,2,5,8&9, D50
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*()

CE151-1A_2 CE151-2A_2
Xy=06,42,Y,~100,00Z,~82,49 B* Xu=96.42.Y,,~100,002,~8249 B*,
X=0,3457y,,=0,3585 10 X=0,3457y,,=0,3585 2.0
A* 1=(ag-[ay rtay y+ag ]) Yag(Y/Y19) /3 A* 5= (8g[3 1+ v +ap al) Vi Y/ Y19) /3

*1=(by=[y by by A Ya( Y119 1/3 B* 5= (05 [02,1#02,y+0 ) Yl YY1 /3
ay = agq [(x—0,17D/y] ay = ayp [(x—0,17D/y] 1
by = by [2/4] b=z [(Mp1x+bpy)/y]
=1, byp=-04 * 80=1, by=-04 *
mr;=1,000, A% A

n = D50
g y=apy(Y/Y1g-1)
by v=boy(Y/Y1g-1)
apy=-0,002,b,y=-0,002
a; =0,003,b; 4=0,002

Munsell System Y,,=100

10

Mp1=-0,160,b5,=0,389 2
n=D50 W
8 v=ay(Y/Y1g-1) g

by v=boy(Y/Y1g-1)
ayy=-0,002,b,y=-0,002
a 4=0,003,b, A=0,002
Munsell System Y,,=100

C=2,Vv=1,2,5,8&9, D50 C=2,V=1,2,5,8&9,D50 T-10
chroma (A*;, B*,) chroma (A*,, B*»)
CE151-3A_2 CE151-4A_2

X=96,42,Y,,=100,00Z,~82,49 B*
Xw=0,3457y,,=0,3585

1/3 L
A*3=(ag=[ag n+ag y+ag al) Y1g(Y/Y1g)

B*3=(b3[D3r*bs,y b3, al) Y1s(Y/ Y1913
ag =y [(x-0,1791y]
b3=hyq [(Mp1x+bp1)/y]

a50= 1, byg= -0,4

X,~96,42,Y,,=100,002,,=82,49 B* ,
xw=0,3457y,,=0,3585 +
* 4=(@q~[8u,ritag, v+ ) Vg Y/Y19) /3
B 4=(b4~[Ds,*ba b, al) Y16 Y/ Y1913
ay =ay [(x-0,171)1y] 1
b4=byq [(Mp1x+bpy)/y]

A* 80=1, byp=-04 A*
Mp1=-0,974,b,=0.658 | € Mp1=-0,160,b5,=0,389 | | 4
n = D50 -10 ' 10 n = D50 10 ' @ ' 10
a3 y=apy(Y/Y1g-1) et 3y v=ay(Y/Y1g-1) D&
b3 y=boy(Y/Y1g-1) by v=boy(Y/Y1-1)
ayy=—0,002,b,y=-0,002 T ayy=-0,002,b,y=-0,002 T
a3 4=0,003,b3 o=0,002 ay,4=0,003,b4 A=0,002
Munsell System Y,,=100 Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, D50 T-10 C=2,Vv=1,2,5,8&9, D50 T-10
chroma (A*3, B*3) chroma (A*4, B*4)

CE151-5A 2 CE151-6A 2
Xu=96,42,Y,~100,002,~8249 B*, Xu=96.42.Y,,=100,002,~8249 B*
X=0,3457y,,=0,3585 a0 X=0,3457y,,=0,3585 a0
*5=(35‘[35,n+35,Y+35,A])Y18(Y/Y15)l B *6=(36‘[36.n+36.Y+36.A])Y18(Y/Y13)1 B

B*5=(bs5=[bs b5 v +bs A]) Y1g(Y/Y19) B*6=(bg~[b6, b6 v +bg al) Y15(Y/Y15)
a5=a,,{(0,86x—-0,71y-0,026)¥] 1 ag = ao [x/y] +
bg=by,[(0,19x+0,38/-0,24)#] b=z [(Mpx+bp1)/y]
agy = 1,00,by, = 1,00 A* ay=1, byp=-0,4 A*
Ag,G,y,R=475,503,574,494¢,E nm 5 mMp1=—0,974,bp,=0,658 6
n = D50 -10 ' 10 n = D50 —10 10
a5 y=apy(Y/Y1g-1) v g v=ay(Y/Y1g-1)
b5 y=boy(Y/Y1g-1) bg v=boy(Y/Y1-1)
ayy=-0,002,b,y=-0,002 ayy=-0,002,b,y=—0,002
a5 =0,003,b5 4=0,002 ag 5=0,003,05,4=0,002
Munsell System Y,,=100 Munsell System Y,,=100
C=2,Vv=1,2,5,8&9, D50 =ilg) C=2,Vv=1,2,5,8&9, D50

chroma (A*g, B*g)

chroma (A*g, B*g)

CE151-7A_2

CE151-8A_2

input: w/rgb/cmyk —> rgb
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For any colour, Yy=100, P40

M,...[max (m) chromatic value?],

h tcity di :
5rooma icity diagram (X, y)

-0,8 0,0 0,8

1,6 ag=xly

20Tv)=s,

525Mm|-m575 600

MA=S)
-08 "
-1,6
>
8
CIE 1931 X s
= T
0,0 0,2 04 06 08 1,0 5
CE150-1A_3 CE150-2A_3
-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 &=y
Parame:
sosMmlms7s e00. 625 700 ter: Y
0\9 - 495¢,E Parame 0,0 VA=S)\ 52Mm Lims7s
ter: Y 50
M= 500c,E A=S\ag
-0,8 -0,8
510¢,E
525¢,E =
-16 3
(3]
=)
> &
§ 4 550¢,E 4
o For any colour, Yy=100, P40 & For any colour, Yy=100, P40
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromticity (ay, by) &' | chromaticity (ay, by)
CE150-3A_3 CE150-4A_3
-08 00 0,8 1,6 3=(x-0,171)f -08 00 0,8 1,6 3=(x-0,171)y
625 700
L 600P) 495¢,E —
o s2Mm —— Parame: o —stzgmemWS 600 Parame:
V=S © ter: Y M)=[5)80 52 L ter: Y
” 510¢,E 49 P40 Re Leooce
—O,é SERE(E -0,8 510c,E
525¢,E
4
= 550¢,E = Bo 550c,E
3 4 & |75 5y | | Ts
o o
¥ &
5 Be Sn/ [Ts @
? & For any colour, Yyy=100, P40 <|=a7 For anly colour, Yyy=100, P40
e max (fn) chromatic value?], it max (fn) chromatic value?],
h i lue?] h i lue?
£ chromaticity (ag, bg) o chromaticity (ay, by)
CE150-5A_3 CE150-6A_3
-08 00 0,8 1,65=(0,86¢-0,73-0,027)y -08 00 0,8 1,6 8=y
Parame:
s2MbnE7s 0 625 700 625 790 e Y
Parame: 5000,E
510c,E
525¢,E

|
2
©

bs=(0,20¢+0,39/-0,24)y

chromaticity (ag, bg)

For any colour, Yy=108, P40
[max (m) chromatic valus

2l

150-7A_3

CE150-7N

TUB-test chart CE15; CIE, y) and chromaA?*;, B*;)

CE150-8A_3

Hs

520 Munsell System Yy
515 0 525M C=2,V=1,2,58&
csr%roomaticity (x,y)

3

=100
9, P40

X,,=100,93,Y,,=100,00Z,,=64,68 B*

xw=0,3799,,=0,3764 10
* 0=(@g~[80,i*a0,y* 30 1) Y1g(Y/Y19) /3

B o=(b[o,+bo,y +bo,al) Y1e(Y/ Y19 /3

ag = ago [X/y]

bg = byo [/

=1, byp=-04

A*,
, , , e
n = P40 _io ) ) 1r0
80,v=ay(Y/Y1g-1) 0
Do v=boy(Y/Y1-1)
apy=-0,002,b,y=-0,002
ag 4=0,003,b5,4=0,002
CIE 1931 X Munsell System Yy,=100
C=2,V=1,2,5,88&9, P40 -10
0,4 0,6 0,8 1,0 chroma (A*g, B*()
CEI51-1A 3 CE151-2A 3
X,=100,93Y,,=100,00,~64,68 B , Xy=100,93Y,,=100,007,,~64,68 B*
*=0,3799,=0,3764 10 Xw=0,3799y,,=0,3764 10
A* 1=(31‘[31,n+31,v+31,A])Y18(Y/Y13)1;§ A 2:(32_[a2.n+a2.Y+aZ.A])Y18(Y/Y18)1g
* 1701 [0, +01 v by A]) Yag(Y/Y19) B*5=(bp=[b2 bp v +b A) Y1(Y/Y19)
ay =g [(x-0,171/y] 1 2 =2y [(x-0,17Dh]
by = by [2/4] b=z [(Mp1x+bpy)/y]
=1, byp=-04 * 80=1, by=-04 *
mr;=1,000,by;=0,171 : o A# 1 Mp;=-0,169,05,=0,389 : : A? 2
n= P40 -10 10 n= P40 -10 10
g y=apy(Y/Y1g-1) &0 8 v=ay(Y/Y1g-1) v
by v=boy(Y/Y1g-1) by v=boy(Y/Y1g-1)
apy=-0,002,b,y=-0,002 r apy=-0,002,b,y=-0,002
a; =0,003,b; 4=0,002 ay 4=0,008,b, 4=0,002
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1, 2,5, 8 &9, P40 +-10 C=2, V=1, 2, 5,8 &9, P40 -10
chroma (A*;, B*,) chroma (A*,, B*»)
CE151-3A 3 CE151-4A 3
X,=100,93Y,,=100,007,~64,68 B*, Xw=100,93,,=100,00Z,=64,68 B*,
*y=0,3799y,,=0,3764 +10 Xy=0,3799y,,=0,3764 +10
A* 3:(33_[33,n+a3,Y+a3,A])Y18(Y/Y15)1;3 *4:(a4_[a4.n+a4.Y+a4.A])Y18(Y/Yla)1;3
B*3=(Dg~[bs +b3,y b3 A Y2e(Y/Y19) /3 B* 4= (D44 +Da v s A Yae(Y/ Y1) /3
a3 = a0 [(x-0,172/y] 4 ay = a [(x-0,179/y] 4L
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
a=1,by=-04 * 30=1, by =-0,4 *
Mpi=-0974bn,=0658 ~ A# 3 Mp;=-0,169,0p;=0,39 : » : A? 4
n = P40 -10 10 n=P40 10 10
ag y=agy(Y/Y1g-1) ) P40 2y y=agy(Y/Y1g-1) R
b3 v=boy(Y/Y1g-1) by v=boy(Y/Y1g-1)
apy=-0,002,b,y=-0,002 T ayy=-0,002,b,y=—-0,002 T
ag =0,003,b5 4=0,002 a4 =0,003,b; 4=0,002
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1, 2, 5,8 &9, P40 +-10 C=2, V=1, 2, 5,8 &9, P40 +-10
chroma (A*3, B*3) chroma (A*4, B*4)
CE151-5A 3 CE151-6A 3
Xy=100,93Y,,=100,007,~64,68 B* Xy=100,93Y,,=100,007,~64,68 B*
*xy=0,3799y,,=0,3764 10 *y=0,3799y,,=0,3764 10
#5368 13,5 ) Va9 U3 * (86186 16,6 ) Vie VY19 U3
B*5=(D5~[bs 1i+bs,y+bs, ) Yaa(Y/Y19) /3 B*6=(Dg~[b6,+D v b, A Y2 Y/ Y1) /3
a5=2,,{(0,86¢-0,71y-0,026)¥] ag = ago [x/Y]
bs=b,,[(0,19+0,38/-0,24)4] b=z [(Mpx+bp1)/y]
agy = 1,00,by, = 1,00 * ay=1, byp=-0,4 *
)‘B,G.V,R:475v503v57:4v4g4cvE: nm ' A'F 5 mD1=—0,974,bm=0,ﬁl58 ' ' A,; 6
n=P40 -10 10 n = P40 -10 10
a5 y=apy(Y/Y1g-1) &0 g v=ay(Y/Y1g-1) v
b5 y=boy(Y/Y1g-1) bg v=boy(Y/Y1-1)
ayy=-0,002,b,y=-0,002 ayy=-0,002,b,y=—0,002
a5 =0,003,b5 4=0,002 ag 5=0,003,05,4=0,002
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P40 =ilg) C=2,V=1,2,5,8&9, P40 -10
chroma (A*s5, B*g) chroma (A*g, B*g)
CE151-7A 3 CE151-8A 3

input: w/rgb/cmyk —> rgb
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For any colour, Yy,=100, AOO
[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

20Tv)=s,

-0,8 0,0 0,8

1,6 ag=xly

525M m Lm575

600 625 700

MA=S)
-038 "
-1,6
>
8
CIE 1931 X s
i [max (m)\ch¥omatic value?],
0,6 0,8 1,0 & chromatic , bo)
CE150-2A 4

-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 &=y
Parame:
625 700 ter: Y
o1= 495¢,E Parame 0.0Tv, =S, s2Mm Lme7s
ter: Y 50
My 5000,E A=Shao
-0,8 -0,8
510¢,E
525¢,E =
_1 %
o
=)
> 3
§ 4 550¢,E 4
o For any colour, Yy=100, AOO & For any colour, Yy=100, AOO
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromticity (ay, by) &' | chromaticity (ay, by)
CE150-3A_4 CE150-4A_4
-08 00 0,8 1,6 3=(x-0,171)f -08 00 0,8 1,6 3=(x-0,171)y
625 700
L 600P] 495¢,E —
o s2Mm —— Parame: o —stzgmemWS 600D, 625 Parame:
V=S ! ter: Y M)=[5)80 L ter: Y
M 510c,E 49 00 Re Tsooce
-0 S2EE -0,8 510¢,E
525¢,E
4
= 550¢,E = Be 550c,E
8 ap Q dhrs Ts
=) =)
£ £
N -]
~ ©
o -
? & For any colour, Yy,=100, AOO <|=a7 For anly colour, Yyy=100, AOO
s [max () chromatic value?], e [max (m) chromatic value?],
£ chromaticity (ag, bg) o chromaticity (ay, by)
CE150-5A_4 CE150-6A_4
-08 00 0,8 1,65=(0,86¢-0,73-0,027)y -08 00 0,8 1,6 8=y
Parame:
525JV|5 600 62 625 100 CEt(-:-r: Y
D0}_— Parame o SEE
500c,E ter: Y VA=S) ©
50 510c,E
-0,8 -0,8 MA‘% 525¢,E
=
& =
T
d ¢
2 g
S o
S =Y,00, AOO < | For any colour, Yiy=1
s () chromatic vglue?], Y | [max (m) chromatic valus?],
£ aticity (as, bs) & | chromaticity (ag, bg)
150-7A_4 CE150-8A_4

CE150-7N

Hs
A

TUB-test chart CE15; CIE, y) and chromaA?*;, B*;)

oS 52 525 Munsell System Y,=100 Xy=109,84.Y,,=99,99,7,,=35,58 B*u
08 1F MmC=2' V=1,2,5,8&09, A00 xy=0,4475y,,=0,4074 T10
§ Ghromaticity (x.Y) *o=(20" 180,120, +20 ) Va9 U3
C B* = (Do~[bg,+Do,y+bo A1) Y1e(Y/ Y1) /3
39 =g [x/Y] 1
by = byo [2/4]
80=1, byp=-04 A*
t t b 0
n = A00 -10 10
80,v=ay(Y/Y1g-1) Y
Bo,v=boy(Y/Y1g-1)
apy=-0,002,b,y=-0,002 T
ag 4=0,003,b5,4=0,002
o CIE 1931 X Munsell System Yy,=100
i C=2,Vv=1,2,5,8&9, A T-10
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*()
CEI51-1A_4 CE151-2A 4
X,=109,84Y,,=99,99.2,~3558 B*, X,=109,84Y,,-09,992,-3558 B*,,
X=0,4475y,=0,4074 10 X=0,4475y,,=0,4074 2.0
A* 1=(31‘[31,n+31,v+31,A])Y18(Y/Y13)1;§ A 2:(32_[a2.n+a2.Y+aZ.A])Y18(Y/Y18)1g
* 1701 [0, +01 v by A]) Yag(Y/Y19) B*5=(bp=[b2 bp v +b A) Y1(Y/Y19)
ay = agq [(x—0,17D/y] 4 ay = ayp [(x—0,17D/y] 4
by = by [2/4] b=z [(Mp1x+bpy)/y]
=1, byp=-04 A* 80=1, by=-04 A*
my1=1,000,bpy =0,l7:1 ' b 1 mp1=—0,169,bp1=0,3?9 ' > 2
n = A00 -10 10 n =A00 -10 10
g y=apy(Y/Y1g-1) A 8 v=ay(Y/Y1g-1) Y
by y=boy(Y/Y1-1) by v=boy(Y/Y1g-1)
ayy=-0,002,b,y=-0,002 I ayy=-0,002,b,y=-0,002 T
a; =0,003,b; 4=0,002 ay 4=0,008,b, 4=0,002
Munsell System Yy, Munsell System Y,,=100
C=2,Vv=1,25,8 T-10 C=2,V=1,2,5,8&9, A00 T-10
chroma (A*;, B*,) chroma (A*,, B*»)
CE151-3A 4 CE151-4A 4
X,=100,84Y,=99,99.2,~3558 B*, X,=109,84,,=09,992,-3558 B~
X=0,4475y,=0,4074 a0 X=0,4475y,,=0,4074 La10
A* 3=(33‘[33,n+33,Y+33,A])Y18(Y/Y15)1 B *4=(a4‘[a4.n+a4.Y+a4.A])Y18(Y/Yla)1 B
B*3=(b3~[bg b3 y+bs Al) Y15(Y/Y19) B* 4=(b4=[bs,n*bs y+bg A]) Y1(Y/Y15)
a3 = a0 [(x-0,1791y] 4 ay = a [(x-0,179/y] 4L
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
ay=1, byp=-04 o ay=1, byp=-04 o
mD1=—0,974,bn1=0,6I58 ' A,; 3 mp1:—0,169,bp1:0,3?9 ' A,; 4
n = A0 10 10 n=A00 10 10
a3 y=apy(Y/Y1g-1) A 3y v=ay(Y/Y1g-1) ATy
b3 v=boy(Y/Y1g-1) v(Y/Y1g-1)
apy=—0,002,b,,=-0,00 T ,002,55=-0] r
a3 =0,003,b5,4=0,0 a4 =0,003,b; 4=0,002
Munsell System Yy{= Munsell System Y,,=100
C=2,V=1,2,5,8&9, A00 T-10 C=2,V=1,2,5,8&9, A00 T-10
chroma (A*3, B*3) chroma (A*4, B*4)
CE151-5A_4 CE151-6A 4
X,=100,84Y,,=99,99.2,~3558 B*, Xu=109,84,,-99,092,-3558 B~
X=0,4475y,=0,4074 a0 X=0,4475y,=0,4074 a0
*5=(35‘[35,n+35,Y+35,A])Y18(Y/Y15)l B *6=(36‘[36.n+36.Y+36.A])Y18(Y/Y13)1 B
B*5=(bs5=[bs b5 v +bs A]) Y1g(Y/Y19) B*6=(bg~[b6, b6 v +bg al) Y15(Y/Y15)
a5=a,,{(0,86x—-0,71y-0,026)¥] 1 ag = ao [x/y] +
bg=by,[(0,19x+0,38/-0,24)#] b=z [(Mpx+bp1)/y]
agy = 1,00,by, = 1,00 A* ay=1, byp=-0,4 A*
)‘B,G.V,R:475v503v57:4v494cvE: nm b 5 mD1=—0,974,bm:0,ﬁl58 ' > 6
n = A00 -10 10 n = A00 -10 10
a5 y=apy(Y/Y1g-1) v g v=ay(Y/Y1g-1) oY
b5 y=boy(Y/Y1g-1) bg v=boy(Y/Y1-1)
ayy=-0,002,b,y=-0,002 T ayy=-0,002,b,y=—0,002 r
a5 =0,003,b5 4=0,002 ag 5=0,003,05,4=0,002
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,68&9, A00 T-10 C=2,V=1,2,5,8&9, A00 T-10
chroma (A*s5, B*g) chroma (A*g, B*g)
CE151-7A_4 CE151-8A 4

input: w/rgb/cmyk —> rgb
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For any colour, Yy=100, EO0
[max (m) chromatic value?],
c5r15roomaticity diagram (x, y)

-0,8 0,0 0,8

1,6 ag=xly

525M m Lm575

20Tv)=s,

600 625 700

|
2
©

bs=(0,20¢+0,39/-0,24)y

For any colour, Yyy=108

chromaticity (ag, bg)

[max (m) chromatic valus

E00
QL.

MA=S)
-0,8 29
e -1,6
9495¢,E
>
8
CIE 1931 X s
= 1
0,0 0,2 04 06 08 1,0 5
CE150-1A 5 CE150-2A 5
-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 &=y
Ml Parame:
525 M575 600 625 700 ter Y
0\9 =S ] R 495¢,E Parame 0,0 VA=S)\ 52Mm Lims7s
5 ter: Y 50
MyFS), E00 500¢.E A=Sha0
-0,8 -0,8
3 510c,E
525¢,E =
-16 3
o
=)
> 3
<8r 4oy Be/ S| | TS 550c,E 4
o For any colour, Yyy=100, EO0 <|5 For any colour, Yy=100, E00
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromticity (ay, by) &' | chromaticity (ay, by)
CE150-3A 5 CE150-4A_5
-08 00 0,8 1,6 3=(x-0,171)f -08 00 0,8 1,6 3=(x-0,171)y
625 700
L 600P) 495¢,E —
o soMm=TTBTS - Parame: o —stzgmemWS 600 Parame:
Vy= © ter: Y M)=5)s0 525 700 ter: Y
S o Ro [A950E
%= EOO ' E0O 500c,E
—O,é SERE(E -0,8 510c,E
525¢,E
4
= 550¢,E = - 550c,E
8 4 8 ris~e -
o o
£ £
¥ %
o s =
? & For any colour, Yy,=100, EO0 <|=a7 For anly colour, Yy=100, EOO
s [max () chromatic value?], e [max (m) chromatic value?],
£ chromaticity (ag, bg) o chromaticity (ay, by)
CE150-5A 5 CE150-6A_5
-08 00 0,8 1,65=(0,86¢-0,73-0,027)y -08 00 0,8 1,6 8=y
Parame:
s2Mnhne7s 600 635 190 fter:Y
> Q C,|
Parame: 500¢.E
510c,E
525¢,E

150-7A_5

CE150-7N

CE150-8A_5

5
Lq

TUB-test chart CE15; CIE, y) and chromaA?*;, B*;)

515 o 525

chromaticity (X, y)

550
V
£ef0

520 Munsell System Y,=100
MmC=2, V=1, 2,5,8&9, EOO

X,,=100,00,Y,,=100,00.2,,=100,00B*
xw=0,3333y,,=0,3333

* 0=(@g~[80,i*a0,y* 30 1) Y1g(Y/Y19) /3
B o=(b[o,+bo,y +bo,al) Y1e(Y/ Y19 /3
ag = ago [X/y]
bg = byo [/

=1, byp=-04

n =EO00
80,v=ay(Y/Y1g-1)

Do v=boy(Y/Y1-1)
apy=-0,002,b,y=-0,002
ap,A=0,003,by A=0,002

-10

A*,

CIE 1931 X Munsell System Yy,=100
30 C=2,Vv=1,2,5,8&9, EO0
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*g, B*()

CEI51-1A 5 CEI51-2A 5
Xy=100,00.Y,,=100,00.Z,,~100,008 * Xw=100,00.Y,,=100,00Z,=100,008* ,
%=0,3333y,,=0,3333 10 X=0,3333y,,=0,3333 2.0
A* 1=(ag-[ay rtay y+ag ]) Yag(Y/Y19) /3 A* 5= (8g[3 1+ v +ap al) Vi Y/ Y19) /3

*1=(by[by by y by A]) Yagl VY1) L3 B*5=(0y-[bz t0a, v 0 A Yae(Y/Y19 13
ay = agq [(x—0,17D/y] ay = ayp [(x—0,17D/y] 1
by = by [2/4] b=z [(Mp1x+bpy)/y]
=1, by=-04 * 80=1, by=-04 *
mr;=1,000, A% A%

n=EO0
g y=apy(Y/Y1g-1)
by v=boy(Y/Y1g-1)
apy=-0,002,b,y=-0,002
a; =0,003,b; 4=0,002

Munsell System Y,,=100

10

Mp1=-0,160,b5,=0,389
n = E00 —10 10
8 v=ay(Y/Y1g-1) o

by v=boy(Y/Y1g-1)
2,y=-0,002,byy=-0,002
a, o=0,003,b, 4=0,002
Munsell System Y,,=100

C=2,Vv=1,2,5,8&9, E00 C=2,Vv=1,2,5,8&9, EO0 T-10
chroma (A*;, B*,) chroma (A*,, B*»)

CE151-3A_5 CE151-4A_5
X,,=100,00,Y,,=100,00,Z,,=100,00B* X=100,00.Y,,100,00Z,~100,00B* ,
xw=0,3333y,,50,3333 10 xw=0,3333y,,=0,3333 Lo

A* 5=(ag-[3g ritag y+ag l) Y1g(Y/Y19) /3
B*3=(bg~{ba 1t v +ha A Vag(Y/Y19 13
a3 = a0 [(x-0,17D/y]
b3=hs0 [(Mp1x+bp1)/y]
ay=1, byp=-04
Mp1=-0,974,b;=0.658
n = E00 1o
a3 y=apy(Y/Y1g-1)

b3 v=boy(Y/Y1g-1)
apy=-0,002,b,y=-0,002
ag =0,003,b5 4=0,002
Munsell System Y,,=100

A*,
10

* 4=(@q~[8u,ritag, v+ ) Vg Y/Y19) /3
B 4=(b4~[Ds,*ba b, al) Y16 Y/ Y1913
ay =ay [(x-0,171)1y] i
b=z [(Mp1x+bpy)/y]
ay=1, byp=-04

Mp1=-0,169,0p;=0,389
n = E00 ~10 10
E00

3y v=ay(Y/Y1g-1)

by v=boy(Y/Y1-1)
apy=-0,002 b,y =—-0,002
a4,4=0,003,0, ,=0,002
Munsell System Y,,=100

A*,

C=2,V=1,2,5,8&9, E00 T-10 C=2,Vv=1,2,5,8&9, EO0 T-10
chroma (A*3, B*3) chroma (A*4, B*4)

CE151-5A 5 CE151-6A_5
X,=100,00,Y,,~100,00Z,~100,008* X,=100,00,Y,,~100,00Z,,~100,008*
Xy=0,3333y,,=0,3333 20 Xy=0,3333y,,=0,3333 +10

#5368 13,5 ) Va9 U3 * (86186 16,6 ) Vie VY19 U3
B*5=(D5~[bs 1i+bs,y+bs, ) Yaa(Y/Y19) /3 B*6=(Dg~[b6,+D v b, A Y2 Y/ Y1) /3
a5=a,,{(0,86x—-0,71y-0,026)¥] L ag = ao [x/y] +
bs=b,,[(0,19+0,38/-0,24)4] b=z [(Mpx+bp1)/y]
5, = 1,00,y = 1,00 " ap0= 1, byg= ~0,4 .
.6y R=475,503,574,494c, A% Mp1=—0,974)0 58 A*g
n = E00 -10 10 n = EO0 10 10
a5 y=apy(Y/Y1g-1) g g v=ay(Y/Y1g-1) v
bs v=boy(Y/Y1g-1) bg,v=boy(Y/Y1g-1)
2,y=-0,002,b,y=-0,002 apy=—0,002 b,y=—0,002 T
a5 4=0,003 b5 4=0,002 ap,4=0,003 b5 4=0,002
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, E00 C=2,Vv=1,2,5,8&9, EO0 T-10

chroma (A*g, B*g)

chroma (A*g, B*g)

CE151-7A_5

CE151-8A_5

input: w/rgb/cmyk —> rgb
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For any colour, Yy=100, CO0 _ =X/ 520 Munsell System Y,,=100 Xy=98,07.Y,,=100,00,Z,,=118,22 B*
{ 525M [max (m) chromatic value?], 08 oo e 16 &2 Parame: 0 8515 Y 525MmC=2, Vel 2,5, 080, EY XVY:O'BlOW“"’/LO’SlGl : o
D % chromaticityldiagraml(ay) ssMmbmszs 600 _ 625 700  ter: Y oL ALY () *O:(aO_[aO.n+aO.Y+aO.A])Y18(Y/Y18)1g
o8 Wi 001v,=S, Hs ; B%0=(bo-{bo,1%Do y*bo ) V1o Y1Yi0)
> 50 a9 = ag [x/y]
3.0 My=S) bo =50 (2]
o3 -0,8 " ay0= 1, byg= ~0,4 A*
o =. ) ) ) O
Y n=C00 -10 ' ' 10
5= 2625 -16 no2s ag y=aoy(Y/Y15~1) o
ah — 79500 9%95¢,E by y=boy(Y/Y1g-1)
= a,y=—0,002,b,y=—0,002
= O = = s
3 n § ap,A=0,003,by A=0,002
= CIE 1931 x S CIE 1931 X Munsell System Y,y =100
—t i C=2,Vv=1,2,5,8&9, C00 -10
=6 0,4 0,6 0,8 1,0 _:'9 0,0 0,2 0,4 0,6 0,8 1,0 chroma (A*o, B*o)
g = CE150-2A 6 CE151-1A 6 CE151-2A 6
~~ — — — — — —
5 == 08 00 08 16 a=(-0,171)¢ 08 00 08 16 arxly X,=98,07,Y,=100,00Z,~118,22 B* Xy=98,07,Y,,=100,00Z,=118,22 B*
=) B Xy=0,3100y,,=0,3161 et Xy=0,3100y,,=0,3161 et 10
T o s2sMmlms7s 600, 625 700 M ter: Y A*1=(31‘[31,n+31,v+31,A])Y18(Y/Y13)1 B A*2=(az‘[az.n+az.Y+az.A])Y18(Y/Yla)1 B
=0 o= 495E  Parame 00y =5\ ML ms7s 600 by 6 #1=(b1=[01 #by y*by A V16(Y/ Y1) B*5=(by{by #bz y 02 ) V1l YY1
—_ = ter: Y v _850 700 ap = agg [(x—0,171/y] 1 ap = agg [(x—0,171)1y]
Q- M= S AT N4 by =bao [2] by=bso [(Mpyx+bp1)/Y]
g c -0,8 o -0,8 a50=1, byg= ~0,4 A%, a50= 1, byg= ~0,4 A%,
c, =1,000 mp,=—0,169,bp,=0,389
dlen mr1=1,000, p1=—0,169, R
= n=Co00 10 n =C00 -10 10
525¢,E =
— % -1,6 2 g y=apy(Y/Y1g-1) g 8 v=ay(Y/Y1g-1)
g 5 2 by y=boy(Y/Y1-1) by v=boy(Y/Y1g-1)
: T a,y=-0,002,b,,=-0,002 T py=—0,002,b,y=—-0,002 T
g o § A SnllTs e § a 4=0,003; 4=0,002 ap,4=0,003,0, 4=0,002
—_— Q o For any colour, Yy,=100, C0O0 <|5 For any colour, Yy=100, CO0 Munsell System Y,,=100 Munsell System Y,,=100
5' O ,', [max (m) chromatic value?], S | [max (m) chromatic value?], C=2,V=1,2,5,8&9, C00 T-10 C=2,V=1,2,5,8&9, CO0O T-10
= m S chromticity (ay, by) &' | chromaticity (ay, by) chroma (A*;, B*;) chroma (A*,, B*,)
o CE150-3A 6 CE150-4A_6 CE151-3A 6 CEI51-4A 6
=
g a 08 00 08  163a=x-0171)y 08 00 08  16a=(x0171) Xw=98,07,Y,~100,002,~118,22 B* X=98,07,Y,=100,002,~118,22 B*
Xy=0,3100y,,=0,3161 110 Xy=0,3100y,,=0,3161 +10
= 9 Lo soop B0 A 5=(a{2 142 v+ ) Vo VY3 @l A) Vo Y9 A3
== 00 s29Im e Parame o Parame B*3=(b3~[bg b3 y+bs Al) Y15(Y/Y19) B* 4=(b4=[bs,n*bs y+bg A]) Y1(Y/Y15)
8 (6] Vy =S ' ter: Y My= ter: Y ag = ayo [(x-0,17D/y] 1 ay = ay [(x—0,1711y] 1
=T M et bg=bag [(Mpx+Dp)/] by=bao [(Mppx+bpy)/y]
~ -0, C, -0,8 ay=1, byp=-04 ay=1, byp=-04
= o =—0,974 20,658 / % Aty e =0,160 bp=0,389 A%,
w Z 4 D1<_:00Y 01=0.8 ' ' I mPl(_:OOv | b
= 550¢,E = n= -10 10 n= -10 10
O o : 2 a3 y=apy(Y/Y1g-1) % Cl 3y v=ay(Y/Y1g-1) cy
'E p A 2 b3 y=boy(Y/Y1g-1) by v=boy(Y/Y1-1)
¥ T 8,y=—-0,002,b,y=-0,002 T apy=-0,002 b,y =—-0,002 T
g g Be Sl [T § a5 4=0,003 b3 4=0,002 a4,4=0,003,0, ,=0,002
o C|f47 © S For any colour, Yy=100, CO0 <|=a7 For anyy colour, Yy=100, CO0 Munsell System Y,,=100 Munsell System Y,,=100
- s [max () chromatic value?], e [max (m) chromatic value?], C=2,V=1,2,5,8&9, C00 T-10 C=2,V=1,2,5,8&9, CO0O T-10
S £ chromgticity (as, bg) S chromiaticity (a4, by) chroma (A*3, B*3) chroma (A*4, B*4)
g CE150-5A 6 CE150-6A_6 CE151-5A 6 CEI51-6A 6
A 08 00 08 1.62=(0,85-0,7%/-0,027)§ 08 00 08 16 ag=xly Xy=98,07,Y,,=100,00Z,~118,22 B* Xy=98,07,Y,,=100,00Z,=118,22 B*
o o B Xy=0,3100y,,=0,3161 et Xy=0,3100y,,=0,3161 el
o 75 600 635 130 fer Y *5=(35‘[35,n+35,Y+35,A])Y18(Y/Y15)l B *6=(36‘[36.n+36.Y+36.A])Y18(Y/Y13)1 B
Parame o T B*5=(bs5=[bs b5 v +bs A]) Y1g(Y/Y19) B*6=(bg~[b6, b6 v +bg al) Y15(Y/Y15)
'CBQ_ V’\:S_r,é 5'10 . a5=a,,{(0,86x—-0,71y-0,026)¥] ag = ao [x/y]
5 c, =b,,(0,19+0,38/-0,24)4] be=bao [(Mp1x+bp1)/y]
My=S bs=b;,{( 5=020 [(Mp1x+bp,
= -0,8 -0,8 A 525¢ 5, = 1,00,y = 1,00 " ap0= 1, byg= ~0,4 .
~ = Ag,c.y R=475,503,574,494¢,E nm \ Ats Mp;=-0,974,b,=0.658 A*g
= } t t b
N = n=C00 -10 10 n=C00 -10 10
@ s 3g,y=2oy(Y/Y15-1) g 3g,y=3ov(Y/Y15-1)
> o b5 y=boy(Y/Y1g-1) bg v=boy(Y/Y1-1)
o 3 2,y=-0,002,b,y=-0,002 apy=—0,002 b,y=—0,002
Z s a5 4=0,003 b5 4=0,002 ap,4=0,003 b5 4=0,002
g— Cf For any colour, Yy=1 Munsell System Y,,=100 Munsell System Y,,=100
s Y | [max (m) chromatic valus?], C=2,V=1,2,5,8&9, Co0 -10 C=2,Vv=1,2,5,8&9, C00
£ & | chromaticity (ag, bg) chroma (A*s, B*s) chroma (A*g, B*g)
150-7A 6 CE150-8A 6 CE151-7A_6 CEI51-8A 6

CE150-7N

TUB-test chart CE15; CIE, y) and chromaA?*;, B*;) input: w/rgb/cmyk —> rgb
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For any colour, Y\y=100, POO —0.8 0.0 08 1.6 ag=xly
[max (m) chromatic value?], - ¢ . : Parame:
c5r15roomat|<:|ty diagram (x, y) sosMmbmszs 600 625 700 ter: Y
Q 0,0 Vs =S
AT\
50
MA=S)
—08 49
G =153
9495¢,E
>
=}
CIE 1931 X s
|
06 08 10 K
CE150-2A_7

-08 00 0,8 1,6 2=(x-0,171)y -08 00 0,8 1,6 &=y
Parame:
sosMmlms7s 600, 625 700 ter: Y
0\9 - 495¢,E Parame 0,0 VA=S)\ 52Mm Lims7s
ter: Y 50
M= 500c,E A=S\ag
-0,8 -0,8
510¢,E
525¢,E =
-16 3
=)
> 3
o
<8r T 550¢,E =l
o For any colour, Yy=100, P00 & For any colour, Yy=100, P00
i [max (m) chromatic value?], S | [max (m) chromatic value?],
S chromticity (ay, by) &' | chromaticity (ay, by)
CE150-3A_7 CE150-4A_7
-08 00 0,8 1,6 3=(x-0,171)f -08 00 0,8 1,6 3=(x-0,171)y
700
600P| 52 495¢,E
o s2Mm —— Parame: o stzg\/lmLmWS 600D, 625 Parame:
V=S ! ter: Y M)=[5)80 L ter: Y
M = 49 P00 Re Leooce
—O,é SERE(E -0,8 510c,E
j 525¢,E
= 550¢,E = 3 550c,E
] © 4475 €,
© 4B (32}
Q e Sm/ [Ts
£ £
N -]
5 1/Be sm| [Ts €
? & For any colour, Yyy=100, P00 <|=a7 For anly colour, Yyy=100, POO
s [max () chromatic value?], e [max (m) chromatic value?],
£ chromaticity (ag, bg) o chromaticity (ay, by)
CE150-5A_7 CE150-6A_7
-08 00 0,8 1,65=(0,86¢-0,73-0,027)y -08 00 0,8 1,6 8=y
Parame:
s2MMne7s 600 695 700 625 790  ter: Y
5 0,0 ~—R495CE
arame g
ter: Y =
510c,E
-0,8 -0 5256¢,E
=
& =
g :
g g
= N
g ~
(=2}
S : 00, P00 < | For any colour, Yy=108 P00
s [max\m) chromatic v§lue?], Y | [max (m) chromatic valus?],
£ chiomaticity (as, bs) & | chromaticity (ag, bg)
150-7A_7 CE150-8A_7

CE150-7N

Hs

TUB-test chart CE15; CIE, y) and chromaA?*;, B*;)
Munsell Chromaz2, Value:1 2,5,8 &9 for CIE illuminant C diagram for |IIum|nant POQy= 100

-_

520 Munsell System Y,=100
*25 oM, C=2. V=1, 2, 5,8 &9, POO
chromatlcny (x,y)

\v

X=102,06.,Y,,=100,00,2,,=81,06 B*

xw—O 3604y,,=0,3531
o=(80[a0,n+3 y*a0, A])Ym<wvm>1’3
o-(bo [bo,r+bo.y+bo,a]) Yag(Y/ Y19 L/3

a9 = ag [x/y]
by = byo [2/4]
=1, byp=-04

\
n = P00 _10 '
80,v=ay(Y/Y1g-1)

Do v=boy(Y/Y1-1)

2,y=-0,002,byy=-0,002

ap,A=0,003,by A=0,002

Munsell System Y,,,=100
C=2,Vv=1,2,5,8&9, P00

chroma (A*g, B*q)

CIE 1931 X
0,0 0,2 0,4 0,6 0,8 1,0
CE151-1A 7 CE151-2A 7
X,=102,06,Y,,=100,00.2,,=81,06 B* X=102,06.Y,,=100,00.2,,=81,06 B*
xw—O 3604y,,=0,3531 o xw—O 3604y,,=0,3531 oo
1—(31 [aq ntay y+ay, A])Yls(YlYlB)i B 2—(32 [ag ntag y*ap, A])Ylﬁ(Y/Yla)i B
17(01=[by i+ y+by AT) Y1g(Y/Y1g) 27 (02~ [b +105,y 05 A1) Y16(Y/Y1g)
ay = apo [(x-0,17D/y] + az a0 [(x-0,17DHy] 4L
by = by [2/4] b=z [(Mp1x+bpy)/y]
=1, byp=-04 * 80=1, by=-04 *
mr;=1,000by;=0,171 : A : A# 1 Mp1=-0,160,b5,=0,389 A%,
n = P00 -10 10 n = P00 -10 2 g § 10
g y=apy(Y/Y1g-1) g 8 v=ay(Y/Y1g-1) v
by v=boy(Y/Y1g-1) by v=boy(Y/Y1g-1)
apy=-0,002,b,y=-0,002 T apy=-0,002,b,y=-0,002 T
a3 4=0,003,b; o=0,002 a 4=0,003,b, A=0,002
Munsell System Y,,=100 Munsell System Y,,=100
C=2,V=1,2,5,8&9, P00 T-10 C=2,Vv=1,2,5,8&9, P00 T-10
chroma (A*;, B*,) chroma (A*,, B*»)
CE151-3A 7 CE151-4A_7
X,=102,06,Y,,=100,00,2,,=81,06 B* X\=102,06,Y,,=100,00.2,,=81,06 B*
X=0,3604y,=0,3531 20 %,=0,3604,,=0,3531 10
A* 5=(ag-[2g rtag y+ag A])Ywmm)lf ~(ag[agntag ytay ADYmmYm)lf
B* 5=(b3-[b3 b3y b3 ) Yl Y/Y; 9 1/3 4= (0=[4 rtby by A Yag(YIY; 9 1/3
a3 = a0 [(x-0,17D/y] 1 a4 a0 [(x=0,17D/y] 1
b3=hs0 [(Mp1x+bp1)/y] b=z [(Mp1x+bpy)/y]
a0=1,byp=-04 * 80=1, byp=-04 *
Mp1=-0974bn,=0658 ) A# 3 Mp1=-0,160,b5,=0,389 A%,
n = P00 -10 10 n=P00 -10 ? 10
a3 y=apy(Y/Y1g-1) P 3y v=ay(Y/Y1g-1) FeD
b3 v=boy(Y/Y1g-1) by v=boy(Y/Y1g-1)
apy=-0,002,b,y=-0,002 T ayy=-0,002,b,y=—-0,002 T
ag =0,003,b5 4=0,002 a4 =0,003,b; 4=0,002
Munsell System Y,,=100 Munsell System Y,,,=100
C=2,Vv=1,2,5,8&9, P00 T-10 C=2,Vv=1,2,5,8&9, P00 T-10
chroma (A*3, B*3) chroma (A*4, B*4)
CE151-5A 7 CEL51-6A_7
X,=102,06,Y,,=100,00,2,,=81,06 B* X=102,06.,Y,,=100,00,2,,=81,06 B*
%,=0,3604y,,=0,3531 10 %,=0,3604,,=0,3531 10
5=(85[as, 435,y +as, A])wa/m)m 6=(86~[3 136, v+, A])Yla(Y/Yla)lls
B*s-(bs [Ds,1i#Ds v+5, Al) Vag(Y/Y19) /3 s—(be [B6,7+D6,v+05,A) Y15(Y/Y19) 113
a5=8,,{(0,86¢-0,71y-0,026)¥] ag = ago [x/Y]
bs=b,,[(0,19+0,38/-0,24)4] b=z [(Mpx+bp1)/y]
agy = 1,00,b,, = 1,00 . ag= 1, by = 0,4 .
A 6.y R=475,503,574,494¢ E nm : A# 5 Mp1=-0,974,bp;=0, ase \ A? 6
n = P00 ~10 10 n = P00 = 10
a5 y=apy(Y/Y1g-1) g ae.Y—azY(Y/Yw‘l)

bs v=boy(Y/Y1g-1)
a,y=-0,002,b,,=-0,002
a5 4=0,003,b5 5=0,002
Munsell System Y,,=100

bg,v=boy(Y/Y1g-1)
2,y=-0,002,byy=-0,002
a5 4=0,003,b5 4=0,002
Munsell System Y,,=100

&

C=2,V=1,2,5,8&9, P00 -10 C=2,Vv=1,2,5,8&9, P00
chroma (A*g, B*g) chroma (A*g, B*g)
CE151-7A_7 CE151-8A_7

input: w/rgb/cmyk —> rgb

__n

ndino juiid 13S0 Jo Juswainseaw o} uonesldde

Sd'/ LXL'VYNO1ST3D/STID-T080.T0Z ‘uonensibal gni

3P0 :Jeuslew gl

yl=

-6




Ritp://farbe i tu-berlin.de/ CET5/CETSLONA. TXT 7.PS
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 8/8

ndino juiid 13S0 Jo Juswainseaw o} uonesldde

Sd'/ LXL'VYNO1ST3D/STID-T080.T0Z ‘uonensibal gni

For any colour, Yy=100, Q00 _ =X/ 520 Munsell System Y,=100 Xw=97,93.Y,,=100,00,Z,,=118,95 B*
M,...[max (m) chromatic value?], B up v 1,6 370y Parame 0 8515 325 C=2,Vv=1,2,5,8&9, Q00 xx=0,3090yx=o,3155 W 10
D % chromaticityldiagraml(ay) ssMmbmszs 600 _ 625 700  ter: Y oL ALY () *O:(aO_[aO.n+aO.Y+aO.A])Y18(Y/Y18)1g
o8 Wi 001v,=S, PL ; B%0=(bo-[Do 1*b0,+b0,A) V1o Y2o)
> 50 a9 = ag [x/y]
=) My=S) by = byo [2/4]
o 3 -0,8 - ap=1, byy=-0,4 A%,
Q =, n = Q00 1:0 : : 1%
—.Q = =
5= 2625 -16 no2s ag y=aoy(Y/Y15~1) g
—h —h %95¢,E 9%95¢,E Bo,v=boy(Y/Y1g-1)
Sa . 002 e 0,002
30 g a9 x=0,003,by4=0,002
= CIE 1931 x I CIE 1931 X Munsell System Y,y =100
""—g 0,0 ‘ 2 0,4 0,6 0,8 1,0 jlé 0,4 0,6 0,8 1,0 ch:z, V:(i’*z' 3;8)& 9. Qoo 10
= ! b ! y b d ! | \ ) chroma (A*g, B*g)
g = CE150-1A 8 CE150-2A 8 CE151-1A 8 CE151-2A 8
~~ — — — — — —
T3 208 00 08  168a=x-0171)y 08 00 08  16a=y X=97,93Y,,~100,007,~118,95 B* Xw=97,93,Y,=100,00Z,~118,95 B*
=) B Xy=0,3090y,,=0,3155 et Xy=0,3090y,,=0,3155 et 10
T o s2sMmlms7s 600, 625 700 M ter: Y A*1=(31‘[31,n+31,v+31,A])Y18(Y/Y13)1 B A*2=(az‘[az.n+az.Y+az.A])Y18(Y/Yla)1 B
=0 o= 495E  Parame 00y =5\ ML ms7s 600 by 6 #1=(b1=[01 #by y*by A V16(Y/ Y1) B*5=(by{by #bz y 02 ) V1l YY1
—_ = ter: Y v _850 700 ap = agg [(x—0,171/y] 1 ap = agg [(x—0,171)1y]
Q My ROOEE AT 40 by =byo [z by=bo [(Mp1X+bp1)/y]
c -0,8 -0,8 a50=1, byg= ~0,4 a50= 1, byg= ~0,4
g‘cDr CIT 510c.E m1=1,000,b,=0,171 \ \ Afl mp,=-0,169,bp;=0,389 A%,
= n = Qoo -10 ' % ' 10 n = Qo0 -10 10
525¢,E =
— % -1,6 2 g y=apy(Y/Y1g-1) oo 8 v=ay(Y/Y1g-1)
g 5 2 by y=boy(Y/Y1-1) ~ by v=boy(Y/Y1g-1)
: T a,y=-0,002,b,,=-0,002 T py=—0,002,b,y=—-0,002
g o 3 Ak SnllTs e § a 4=0,003; 4=0,002 ap,4=0,003,0, 4=0,002
C,| -
—_— Q Zr; For any colour, Yy=100, Q00 & For any colour, Yy=100, Q00 Munsell System Y,,=100 Munsell System Y,,=100
5' O ,', [max (m) chromatic value?], S | [max (m) chromatic value?], C=2,V=1,2,5,8&9, Q00 T-10 C=2,V=1, 2,5,8&9, Q00
= m S chromticity (ay, by) &' | chromaticity (ay, by) chroma (A*;, B*;) chroma (A*,, B*,)
% = CE150-3A 8 CE150-4A_8 CE151-3A 8 CE151-4A 8
a 08 00 08  163a=x-0171)y 08 00 08  16a=(x0171) Xw=97.93,Y,~100,002,~118,95 B* X=97.93,Y,~100,002,~118,95 B*
o o Xy=0,3090y,,=0,3155 110 Xw=0,3090y,,=0,3155 10
= 700 A*3=(ag—[a3 +as y+ag al) Y1a(Y/ Y19 /3 * =(as~[ag +aq v+ay al) Yig(Y/Y19 13
= [Tl L 600PL_525—8 4050 £ 37(8g~[8g n*a3,y*ag Al) Y1g( 15)1/3 4~(8g[a4 1+ y+au, al) Y1g( 13)1/3
== 00 s29Im e Parame o Parame B*3=(b3~[bg b3 y+bs Al) Y15(Y/Y19) B* 4=(b4=[bs,n*bs y+bg A]) Y1(Y/Y15)
8 (6] Vy =S ' ter: Y My= ter: Y ag = apg [(x—0,171/y] 1 ay = ayo [(x-0,171)1y]
=T M et bg=bag [(Mpx+Dp)/] by=bao [(Mppx+bpy)/y]
~ -0, C, -0,8 ay=1, byp=-04 ay=1, byp=-04
= o =—0,974 20,658 / % Aty e =0,160 bp=0,389 A%,
w 4 p1=-0,974,bp;= 'Gu ' i I Mp;=-0,169,bp1=0,
e = 5500 = n=Qoo -10 E 10 n=Qoo 10 10
= BT 2 a3,y=2oy(Y/Y1g-1) Qe 3y v=ay(Y/Y1g-1) QY
N S & b3 y=boy(Y/Y1g-1) 1 by y=byy(Y/Y1-1)
© g I 8,y=—-0,002,b,y=-0,002 apy=-0,002 b,y =—-0,002
b N 3 a3 4=0,003,b3 4=0,002 a, 4=0,003,b, A=0,002
5 1B Ik 3 : : , :
8 & & e Sm S For any colour, Yy=100, Q00 <|=a7 For anyy colour, Yyy=100, Q00 Munsell System Y,,=100 Munsell System Y,,=100
- s [max () chromatic value?], e [max (m) chromatic value?], C=2,V=1,2,5,8&9, Q00 T-10 C=2,V=1, 2,5,8&9, Q00 -10
iy £ chromgticity (as, bs) o chromiaticity (a4, bs) chroma (A*3, B*3) chroma (A*,4, B*4)
g CE150-5A 8 CE150-6A 8 CE151-5A 8 CE51-6A 8
A 08 00 08 1.62=(0,85-0,7%/-0,027)§ 08 00 08 16 ag=xly X=97,93Y,~100,007,~118,95 B*_, Xy=97,93,Y,,=100,00Z,=118,95 B*
o o B Xy=0,3090y,,=0,3155 et Xy=0,3090y,,=0,3155 el
o My S 600 625 700 635 10 fter:Y #5515 1185,y ) Vil Y/¥19) /2 R R NG VAL
My =35 Parame o T B*g=(05[bs ri+0s v +0s al) Y1g(Y/Y19) B* g=(06=[be, 06, v+, ) Y16(Y/Y19)
3 A V\=S, - 25=2,(0,86¢-0,7y-0,026 1] 1 26.= 2 [0Y]
@ YR R bs=b,,[(0,19x+0,38/-0,24)4] be=bzo [(Mp1x+bp1)/y]
=. -0,8 -087 3 Q25GE A= 1,00,bp,= 1,00 A*, 80=1, byp=-04 Axg
=~ = )\B;G_yd;é—475,503,57:4,494c,E= nm iy K m[_,l—;%,974,b =0,658
S = n=Q 10 \SZ 10 n=Q 10 10
3 B 3g,y=2oy(Y/Y15-1) w 3g,y=3ov(Y/Y15-1)
s pd b5 y=boy(Y/Y1g-1) bg v=boy(Y/Y1-1)
= t a,y=—0,002,b,y=-0,002 T a,y=—0,002,b,y=-0,002
S oy=-0,002,05y=-0, 2y=-0,002,b5y=-0,
Z E{ a5 4=0,003 b5 4=0,002 ap,4=0,003 b5 4=0,002
g— & For any colour, Yy=1 Munsell System Y,,=100 Munsell System Y,,=100
s Y | [max (m) chromatic valus?], C=2,V=1,2,5,8 &9, Q00 T-10 C=2,V=1, 2,5,8&9, Q00
£ & | chromaticity (ag, bg) chroma (A*s, B*s) chroma (A*g, B*g)
150-7A 8 CE150-8A 8 CE151-7A 8 CEI51-8A 8

3P0 :Jeuslew gl

yi

CE150-7N

TUB-test chart CE15; CIE, y) and chromaA?*;, B*;) input: w/rgb/cmyk —> rgb




